P . —— S L 4 £ A P
(S 3FEE F£2 9k FRXEFFEFENNEAS HEE] AXROH
-8B 3MIF—A\(34/10(L) (RSN B A XY TTMALIS 3 REM
BB, RS, 311, 40TF— L& HEARDS — NEESZ3 =
13x 3 JMLIY->X
K1 E—E 28 1 A
%2: B AE 8 1 RaE GIQ_S‘
4/10(%)
E—2E U] B
$3HSH N 77l<
stRau) | | =52 | X117
13 | o 16 | o Y13
> Y
4/3(t) 4/3(%) z ||z
B—1E N . . E Ut YNE] .
st8a907 | mamam | UMIU-Z SWE29-Z | mamem | fAI-F1U-X
7x | © 13 | 2 17 | 3 3 2
4/3(%) 4/3(%) 4/3(%) 4/3(%)
$—iE $—0E PN PN
#1mtan %250tan %1mtan %20an
| =tmavns | | mrvon-z | | unu—x || mEzsvi-x | | smeEezs-x || mieoaaex || skv-+10-X || mEvs-2
10x | O
3/28(H)
.'.2
25% | 0 7 4 0 | 17x 15x | 2 10x | o 11 | o 2 | ox
f By
3/27(%) 3/27(%) 3/27(%) 3/27(%) 3/27(%) 3/28(H) 3/28(H)
18x | o H—4E H—4E PN PN PN PN H—iE
%20an %3mtan %1man %20an %3man %1man %20an
3/27(%)
X1
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
= 5 E ! X y L5 7K N = 1t gy B gt = =] A
T || R || 2 EREES || R | | B o || 5 X B || B C
B || k|| v SRR L |3 2 £ & |5 z < s |2 5
R > ||z 1|7 v || 1 5 > J | |2 g - ]| D S
5 || /R, o]0 E; 5 2 5 || £ + e 5
b 0| | & 5| = o= )] Z] 7 W 2 1 Z ||z .
J Z = P 7 ||z - Z Z 13 U 2
z | |7 2 ||z z z | |z z |3 -
2 Z Z Z




(G 3FE £2 90 SRIXEFEFFERNFIKAZ HEE]

BB, EEBEHIEREDS - MEESZS

28 . alEs1—JIA

JI1ZTFDEP

1 11x
4/11(8)
E—\E
E1Ran
| BmEY -2 | | EWES—ILR |
13x | 6 8x | 0
4/10(+) 4/10(%)
E— N E—\E
E2KAaH Z1an
| BO&BIII-ZX | EES (LR 587 K= )R
9 | 10x 3 | 5x 21x | 9
4/4(8) 4/4(8) 4/4(H)
EMAE SEAAE SEANE
E2AaH Z3Ran BaRAH
1 2 | xmsma | 3 4 5 6 7
2 53] 7t = = = =
B I+ ) = = 2 i3
5 Ji & B & ¥ =
5 J J 5 1 5 >
3 i 5 5 - 5 2
- = 9 il 5 S %
2 7 - J i - Z
0 Z Z 5 Z
2 2
Z




